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f(x)=xvV8—xZ  :NPYPN W N

gx)=v 8x2 — x*
JITN DINNOIMX W NeSPNonwd (1) N
177NN DIND NN NN

DYDY g(x) ) f(X) NNPNOIN NNR DI Y PN MMPI IR RN (2)
JND DX YIAPY, NLEPNONN NNXR Y 5 0OMND PPN MTMIPI DY DINWWAINR RSN .2
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8§—x2>0 0PN PN (1)
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—2V2 <x<2V2 :g(x) Y f(x) Sw mMTnn DNn

fx)=0 = x=0, x=%2V2 (2)
g(x)=0 = x=0, x=+2V2
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—2x _ 8—2x?

f'(x) = V8 —x2 + = .
() T8 —x2 J3—x2 ?

o'(x) = 16x —4x° _ 8x—2x
2V8x2—x*  V8xZ—x*

8—2x>=0 = x=+2 PP ’MTwn” mmpy f(x) May

8x —2x°=0 = x=+2, x=0 PP "MTvn” MMp) g(x) May

X | —2y2 | —2 0 . 2V/2

f(x) 0 \ —4 hs 0 b 4 \, 0

g(x) 0 b 4 N§ 0 b 4 \. 0
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x =0 My mmmirx g'(x)

DR DX IV 9 1T 97
0<x<2 , —2V/2<x<=2 mynmy gx)
2<x<2Y2 , =2<x<0 MmynTtw g(x)
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0<x<2V2 , =2<x<0 Mmym»dw g'(x)
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A(x) rspnonby nymnnoinn rxsn (1) N
DYDY MY apnn f(X) MIPNaN HY MODILIORI NN RN (2)
LDPIN DY f(X) MEPNON TN OU PN MMPI DX NN (3)

JN0 DR YA, f(X) XPNON DY NP MTIPI Y DNWYN DX KX (4)
J(X) ¥PN9N 9N 5W NPPO LLID X PYDOOY PRI a
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x#+* 1 : f(x) v nrmnn onn

f(x) Yv mowoaroxr  (2)
y=1, x==x1 :DYPXY M IAPNnN

x=0 = f0O)=—4 = (0,—4) LYy TP DY PPN NP (3)
fx)=0 = x—2)=0 = x=2 = (2,0) :x-DPXDY PN NTP)

2(x — 2)(x2 —1) — (x — 2)%(2x)

2(x—2)(2x—1)
(x> —1)°

SIMPLEX

f'(x) =




g =0 = =2 , %= % PP "MTIVNN” MMPIN DY X “NONYY
2(4x —95) 200 f1(X) DTN DXPNNA NN DY NN
[} 9 Yy yapy £''(x) NIvn MmN Y 1non
f'(x) Sw nmin ntn Sv 10N
f'"Q)Svwmon=24-2—-5)>0 9%, x 3% avn f'(x) Sw mdnn»
" 1 1
f (7)bwm’0n =2(4-7- 5)<0
U
X= % “2DM0PM X =2 "20mrn f(x)
U
(% " 3) “20mopn , (2,0) 2 0mrn a0 f(x) Dw ppn mmp)
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N7 f(x) MmoDwnna»
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7 <E<Y , 1<x<2 My '(x) <0

U %<x<2,l<x<2 DYNN2

< x<2 N2y U nbyn a9 nmyp f(x)
U 1

7<x<1 . 1 <x<2 Dinha

< x<2 Ny f'(x) >0

1 <x<2 My f'x) >0 1 f'(x) <0 pon
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7 <E<Y , 1<x<2 My '(x) <0
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< x<2 N2y U nbyn a9 nmyp f(x)
U 1
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